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Section-ll: ENGLISH
Directions: (Questions no. 16 to 30) : For each question, four
possible answer choices have been given, out of which only
one is correct. Select the correct answer and indicate it at the
appropriate place in the OMR Answer Sheet.
Directions: Read the following passage carefully and answer
questions no. 16-18.

We turned to look m the direction pointed out, and there
saw a penguin walking slowly along the shore with an egg un-
der its tail. There were several others, we observed doing the
same thing; and we found afterwards that these were a kind
of penguins that always carried their eggs. Indeed they had a
most useful pocket for the purpose, just between the tail and the
legs. We were very much struck with the regulanty and order
of this colony. The island seemed to be divided up into squares
of which penguin possessed one, and sat in stiff’ graveness in
the middle of it, or took a slow march up and down the spare in
between. Some were sitting on their eggs, but others were feed-
ing their young ones in a manner that caused us to laugh a little.
The mother stood on a raised rock, while the young one below
her head uttered a number of loud unpleasant noises.

16. The penguins carried their eggs in a pocket

(a) under their wings.

(b) between the tail and legs.

(c) on their backs.

(d) on their tails.

17. The narrator and his friend could not help laughing
when they saw

(a) the penguins carry their eggs

(b) the penguins do a slow march

(c¢) the mother penguins feeding their young ones

(d) a mother penguin standing on a raised rock and the

young one making a loud noise below her.
18. The penguins live

(a) on rocks (b) in squares

(c) on an island (d) ina colony
Directions: Answer questions no. 19-22 by choosing the most
appropriate options to complete the paragraph by filling in
the blanks.

Udhata, a thin donkey who was starved by his owner, a local
fisherman. He went in search (19) food with his friend, a jackal.
The pair went (20) the village in the middle of the night until they
stumbled upon a cucumber field. That night, they truly relished

(b)y W H w7 # gl
(d) ==/ T FEwd ST

www.sdcampus.com

PYQs 9th

their meal and decided to pay a visit to the cucumber field every
night. Udhata eventually (21) to look much healthier and was
able to pick up more load. Once after appetizing a wholesome
meal (22) cucumbers, the donkey started braying.

19. (a) out (b) of
(¢) into (d) on
20. (a) around (b) out
(c) for (d) onto
21. (a) begin (b) beginning
(c) began (d) begun
22. (a) on (b) for
(c) into (d) of
23. Choose the word similar in meaning to the underlined
word.
After a long and arduous drive on the hills, he felt
fatigued.
(a) casily (b) effortless

(c) difficult (d) enjoyable

24. Read the sentence given below and choose the option
which correctly changes it into Passive Voice.

She created twenty new dresses for the fashion show in

just two days.

(a) She had created twenty new dresses for the fashion
show in just two days.

(b) Twenty new dresses were created by her for the fashion
show 1n just two days.

(¢) She had been creating twenty new dresses for the
fashion show in just two days.

(d) She will be creating twenty new dresses for the fashion
show in just two days.

25. The candidate said that his views have been deliberately
garbled. The word opposite in meaning to the underlined
one is :

(a) clarified (b) slanted

(c) distorted (dy illustrated
Directions (Questions No. 26-28) : Answer the questions by
choosing the most appropriate options to fill in the blanks.

26. No other boy in the class is as ............. as Ram.
(a) better (b) good
(c) bent (d) worse

27. He was sleeping well when the bell ............ .
(a) has rung (a) rang
(c) is ringing (d) would ring

28. You can’t depend on him, he knows ............ about fi-
nance.
(a) a little (b) few
(c) little (d) much

29. Choose one-word substitute for the following expres-
sion :

Something that cure all illnesses or prolongs life.
(a) Elixir (a) Idyllic
(c) Massif (d) Masterpiece
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30. Select the alternative which expresses the following

sentence in indirect speech :

The manager said to the clerk, *““You may leave now.

Don’t forget to keep these files in the file cabinet.””

(a) The manager says to the clerk that you may leave then
and asked not to forget to keep these files in the cabinet.

(b) The manager told the clerk that be might leave then and
ordered him not to forget to keep those files in the file
cabinet.

(¢) The manager said to the clerk that be may leave now
and ordered not to forge to keep those files in the
cabinet.

(d) The manager told to the clerk that be might leave then
and ordered not to forget to keep these files in the
cabinet.

Section-IIl: MATHEMATICS

Directions: (Questions no. 31 to 65) For each question, four
possible answer choices have been given, out of which only
one is correct. Select the correct answer and indicate it at the
appropriate place in the OMR Answer Sheet.

31.

32,

33.

34.

35.

36.

If the price of an item is increased by 15% and the
total sales of that item is reduced by 10%, then what
will be the effect on the total earning of a shopkeeper?
(a) 5% decrease

(b) 1.5% increase

(¢) 2.5% decrease

(d) 3.5% increase

A sum of money invested at simple interest triples
itsellf in 8 years. How many times will it become in
20 years’ time?

(a) 8 () 7

©) 6 (d 9

At the rate of 5% annual interest on a sum of money,
¥ 1,261 compound interest is received in 3 years. The
sum of money invested is :

(a) ¥ 9,000 (c) T 8,000

(b) T 8,400 (d) T 7,500

A can do a work in 25 days and B can finish it in 20
days. They work together for 5 days. In how many
days will B finish the remaining work?

(a) 8 days (c) 11 days

(b) 10 days (d) 13 days

If 5 men or 7 women can earn 31,372 per day, how
much would 10 men and 5 women earn per day?
(a) 3,724 (b) 33,624

() 23,524 (d) 3,124

ABCD is a square. P, Q, R, S are the mid-points of
AB, BC, CD and DA respectively. If the perimetre
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of square ABCD is 1642 cm, then the perimetre of
the square PQRS is :

(a) 1642 cm (b) 842 em

(c) 8 cm (d) 16 cm

The perimetres of two squares are 40 cm and 32 em.
What is the perimetre of the third square whose area
is equal to the difference of the areas of the first two
squares?

(a) 24 cm (b) 26 cm

{c) 25 cm (d) 28 cm

A total of T50,000 is to be distributed as prizes to
200 persons. A prize is either of T100 or T500. What
is the number of prizes of I100?

(a) 50 (b) 75

(¢) 125 (d) 150

ABCD is a parallelogram having its sides, AB = 3x
+1,BC=2y + 3,CD = 25and DA = y + 28.
Then, (x + ¥) is equal to :

(a) 29 (b) 21

(€) 25 (d) 33

. The four angles of a quadrilateral are in the ratio 2 :

3 :5: 8. What is the difference between the smallest
and the greatest angles of the quadrilateral?

(a) 80° (b) 100°

(c) 110° (d) 120°

If a* + b* + ¢ = 2(a = b = ¢) = 3, then the value
of (2a = 3b + 4¢) is:

(a) 4 (c) 2

(b) 3 (d 1

The ages of Raju and Raman are in the ratio 5 8. If
Raju was 5 years older and Raman 4 years younger,
the age of Raju would have been the same as that of
Raman. What is the age of Raju?

(b) 16 years

(d) 13 years

(a) 15 years
(c) 24 years

. The difference between the digits of a 2-digit number

is 3. If the digits are interchanged and the resulting
number is added to the original number, we get 143.
What is the original number?

(a) 58 (b) 47
(c) 69 (d) 96
vi AL (x—i] = 36, then what is the value of
X
x‘ +T?
X
(a) 1442 (b) 1440
(c) 1444 (d) 1438

If one of the factors of x* = y* + 2yz - 2° is (x +
y — z), then the other factor is:
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47.

49.

50.

Sl.

52.

53.

54.

(a) x +y — 2
b)) x —y+1z
c)x+y+z
(d) x-y-2

. The smallest square number which is divisible by

each of the numbers 8, 15 and 20 is :

(a) 900 (b) 1600

(¢) 2500 (d) 3600

If 12 + 22 + 3% 442 + 52 = 225, then 2° +4* +
6* + 8 + 10° is equal to :

(a) 450 (b) 900
(c) 1800 (@) (225)*
{"0.008 +U0,343 —J0.25 is equal to :
(a) 0.4 (b) 0.5
(¢) 0.7 (dy 0.8
[
JE +(0.tms)"§ -[l] is equal to :
16 10

@ 112 @) 243

3 4
© 181 @ 15 2

3 3

The greatest 4-digit number which is a perfect square,
is:

(a) 9801 (b) 9816

(c) 9824 (d) 9864

Which of the following is a Pythagorean triplet?
(@ 2, 3, 5)

® 6.7.9

(c) (6,9, 11)

(d) (8, 15, 17)

The area of a square field is 60025 sq. m. A boy
cycles along its boundary at 18 km/h. In how much
time will he return to the starting point?

(a) 166 seconds {(b) 176 seconds

(c) 196 seconds (d) 208 seconds

The unit place digit in 9*°! is:

(a) 9 () 7

© 3 ) 1

Four prime numbers are in ascending order. The
product of the first three numbers is 455 and the
product of the last three numbers is 1729. The greatest
prime number amongst these four numbers is:

(@) 7 (c) 19
(b) 13 (d) 23
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The smallest number which when added to the greatest
4-digit number makes the divisible by 345 is:

(a) 5 (b) 6

(¢) 50 (d) 60

How many bricks of size 22 em x 10 em X 7 cm
are required to construct a wall 33 m long, 3.5 m
high and 40 c¢m thick if sand used in the construction
occupies 1/10th part of the wall?

(a) 24,000

(b) 25,000

(¢) 26,000

(d) 27,000

An 8-faced fair die with numbers 1 to 8 is rolled.
What is the probability of getting an even number?

(a) (b)

| o= D
O | = S| e

(c) (d)

The ages (in years) of 50 members of the junior cricket
club in a town are given below: 15, 17, 14,.13, 14,
13, 14, 17, 17, 16, 17, 16, 15, 16,15, 14, 13, 14, 15,
13, 18, 13, 15, 14, 15, 13, 14, 13, 13, 17, 15, 14,
14, 17, 16, 17, 15, 14, 17, -16, 16, 16, 14, 16, 13,
18, 16, 15, 14, 14

What percentage of members are in the 15 - 16 age
group?

(a) 28% (b) 30%

() 32% (d) 36%

The area of a rectangular plot is 150 sq m and
perimetre is 50 m. The ratio of its length to breadth
is :

(a) 3:2 (b) 50:3

(c) 6:1 (dy 7:2

A swimming pool is 260 m long and 140 m wide. If
54,600 cu m of water is pumped into it, what is the
height of the water level in it?

(a) 1 m

(b) 1.5 m

(c) 2 m

(d) 2.5 m

What number should (23)~* be multiplied with so that
the product becomes (69)7'?

4, 9
@ 2 () 322
4 7
) 9
o 2 (@ 222
3 6
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62.

63.

64.

65.

6+ 3) x 9-1 + 3—1 + 2-2 is equal to :

@ 2 (b)
4

(d)

A pipe can fill a cistern in 9 hours. Due to a leak
in its bottom, the cistern fills up in 10 hours. If the
cistern is full, in how much time will it be emptied
by the leak?
(a) 60 hours
(b) 70 hours
(c) 80 hours
(d) 90 hours

2ol &2

13
(c) —4

If 27! =____ | then the value of x is:
8)2-3
(a) -2 (b) -1
©) 2 @ 3
If 5P + 5P + 5 = 651, then the value of p is:
(a) 2 (b) 3
(c) 4 @ 5

Section-IV: GENERAL SCIENCE |

Directions : (Questions no. 66 to 100) For each question,
four possible answer choices have been given, out of which
only one is correct. Select the correct answer and indicate it
at the appropriate place in the OMR Answer Sheet.

66.

67.

Consider the following statements about chemical
reactions:

(1) During reaction sound may be produced.

(2) During reaction heat may be produced but never
absorbed.

(3) During reaction a gas is always evolved.

(4) The products formed may have different colour
or physical state than the reactants.

The correct statement(s) is/are:

(a) Only (4)

(b) Only (1) and (4)

© (1). (2) and (4)

@ (2. (3) and (4)

Consider the following adaptive features of animals :

(1) Thick white fur

(2) Layer of fat under the skin

(3) Slippery body

(4) Long curved and sharp claws

Out of these the adaptive features of a polar bear

are:

(a) Only (1) and (2)

(b) Only (3) and (4)
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(e) (1), (2) and (4)
(d) (1), (2) and (3)

. Select the correct statement with reference to soil.

.

70.

71.

723

3.

(a) Loamy soil contains sand and clay only.

(b) In loamy soil the percolation of water is very fast.

(c) Weathering is a very fast process of soil formation.

(d) Top soil contains maximum amount of humus.

A student has put a drop of dilute solution of sodium

hydroxide first on a strip of blue litmus paper and

then on a strip of red litmus paper. His observations

must be:

(a) Blue litmus paper turns red and red litmus paper
turns blue.

(b) No change in blue litmus paper but the red litmus
paper turns blue.

(c) Blue litmus paper turns red and no change in the
red litmus paper.

(d) Blue litmus paper and red litmus paper both become
colourless.

Consider the following components of a food chain:

Frog, Eagle, Insects, Grass, Snake

In the food chain, the correct order of these components

is

(a) Grass — Insects — Snake — Frog — Eagle

(b) Grass — Frog — Insects — Snake — Eagle

(c) Grass — Insects — Frog — Eagle — Snake

(dy Grass — Insects — Frog — Snake — Eagle

Select the correct statement from the following:

(a) Cotton and Mustard both are Kharif crops.

(b) Cotton and Mustard both are Rabi crops.

(¢) Cotton is a Kharif crop and Mustard is a Rabi crop.

(d) Cotton is a Rabi crop and Mustard is a Kharif crop.

Consider the following agricultural practices/processes:

(1) Ploughing

(2) Crop Rotation

(3) Field Fallow

(4) Adding Manure and Fertiliser

The practices/processes which add nutrition to the

soil are:

(a) Only (2) and (4)

(®) (1), (3) and (4)

(© (1), (2) and (4)

@ (2), (3) and (4)

Select from the following a group that comprises one

element, one compound and one mixture :

(a) Gold, sulphuric acid, air

(b) Silver, carbon dioxide, sodium chloride

(c) Oxygen, soil, milk

(d) Silver, methane, manganese dioxide
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74.

75.

76.

7.

78.

79.

80.

An optical device (mirror or lens) can form real
diminished as well as real enlarged images of an
object on a screen placed on the same side as the
ohject. This optical device is:

(a) convex lens only

(b) concave mirror only

(c) either convex lens or concave mirror

(d) either convex mirror or convex lens

According to the recommendations of the United
Nations, the amount of water for drinking, washing,
cooking and maintaining proper hygiene per person
per day is a minimum of:

(a) 100 litres (b) 50 litres

(c) 25 litres (d) 20 litres

Two plane mirrors ‘A’ and ‘B’ are placed at right
angles to each other as shown. A ray of light PO
incident at point O on the mirror ‘A’ at an angle
of 30° falls on the mirror ‘B’ after reflection from
the mirror ‘A’. The angle of reflection for the ray
reflected from the mirror B would be:

Figure
(a) 30° (b) 60°
(¢) 120° @ 150°

The correct sequence of three planets of the solar
system in increasing order of their distance from the
Sun is :

(a) Venus, Mars, Saturn

(b) Mercury, Venus, Mars

(c) Mars, Mercury, Jupiter

(d) Venus, Earth, Mars

A planet of our solar system which has no satellite
of its own is:

(a) Mars (b) Neptune

(c) Uranus (d) Venus

Richter scale is used to measure the intensity of:
(a) Lightning (b) Earthquake

(c) Tsunami (d) Landslide

Four parallel rays of light are falling on surfaces
Sv Sz, S3 and 54 as shown in the figure. Surface(s)
on which the angle of incidence is equal to angle of
reflection is/are:
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. The method used to obtain solid copper sulphate from
copper sulphate solution is:

(b) Decantation

(d) Sedimentation

The combination of features observed in grass is :

(a) Condensation

(¢) Evaporation

(a) tap root and reticulate venation
(b) fibrous root and parallel venation
(c) tap root and parallel venation
(d) fibrous root and reticulate venation

. The mode of nutrition used by bread mould, mushroom
and yeast is:
(a) saprophytic
(c) heterotrophic (d) autotrophic

. Human digestive system has more than ten organs.
Select from the following combinations of three organs
the one that does not carry out any of the digestive
functions.
(a) Buccal cavity. Oesophagus, Large intestine

(b) parasitic

(b) Buccal cavity, Oesophagus, Rectum
(¢) Oecsophagus, Large intestine, Rectum
(d) Oesophagus, Pancreas, Small intestine
. Consider the following edible plants:
(1) Brinjal
(2) Banana
(3) Ladyfinger
(4) Pumpkin
Out of these, a pair of plants having two or more
edible parts is:
(a) (1) and (2)
(b) (3) and (4)
(c) (2) and (4)
(d) (1) and (3)
. The fastest speed of falcon is 320 kilometres per hour.
The correct method of expressing this speed using the
correct unit symbols of distance and time is:
(a) 320 kms/hr
(b) 320 KM/H
(c) 320 KMS/HR
(d) 320 km/h
A bus moves with a speed of 36 kilometres per hour
for 20 minutes and then with a speed of the next 54
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88.

89.

o1.

92,

93.

kilometres per hour for the 20 minutes. The total
distance covered by the bus is:

(a) 12 kilometres

(b) 18 kilometres

(c) 30 kilometres

(d) 45 kilometres

Consider the electric circuit as shown. In this, AB is
a thick copper wire. When the switch is ON current
flows through the wire AB and the bulb starts glowing.
We observe that the wire AB:

==

(a) becomes red hot.

(b) behaves like an electric fuse and melts immediately.
(c) gives a severe shock on touching.

(d) deflects a compass needle placed near it.
Sometimes the athletes suffer from muscle, cramps.
It is due to anaerobic respiration in which glucose is
converted to:

(a) lactic acid only

(b) lactic acid and carbon dioxide

(c) alcohol and carbon dioxide

(d) alcohol and lactic acid

. In human bodies the exchange of gases between blood

and tissue and the absorption of nutrients takes place
in the :

(a) heart
(c) arteries

(b) capillaries
(d) veins

Bryophyllum can reproduce by its :
(a) Leaves (b) Flowers
(c) Roots (d) Stem

Besides sunlight, plants also need following for
photosynthesis:

(a) Carbon monoxide, Water, Chlorophyll
(b) Oxygen, Water, Chlorophyll

(c¢) Nitrogen, Chlorophyll, Carbon dioxide
(d) Chlorophyll, Water, Carbon dioxide
Silkworms secrete fibre which is made of:
(a) protein

(b) carbohydrates

(c) cellulose only

(d) starch + cellulose

. A copper plate would feel cold as compared to a

wooden table on a winter morning. It is due to the
reason that the copper plate:
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(a) reflects more heat than the wooden table.

(b) is made from metal whose density is more than that
of wood.

(c¢) is a better conductor of heat as compared to the
wooden table.

(d)

is a poor conductor of heat as compared to the
wooden table.

Consider the following statements:

(1) Excretion takes place in plants.

(2) Excretion takes place in both plants and animals.

(3) Excretion is a process of getting rid of excess
water only.

(4) Secretion is one of the methods of excretion.

The correct statements are:

(a) Only (1) and (2)

(b) Only (3) and (4)

(¢) (1), (2) and (4)

(d) (1), (2) and (3)

Transpiration is a process in which plants:

(a) absorb water vapours from the atmospheric air.

(b) release water vapours in the atmosphere.

(¢) receive water from the soil through roots.

(d) receive water from the atmosphere for photosynthesis.

Select a pair of contact forces from the following:

(a) Muscular force and Magnetic force

(b) Muscular force and Frictional force.

(c) Frictional force and Electrostatic force

(d) Gravitational force and Magnetic force

A water tank has four taps A, B, C and D as shown.

If the tank is fully filled with water and the taps are

opened simultancously, the water will low with the

same pressure from the taps :

(a) A and B (b) C and D
(¢) Band C (d) A and D
Consider the experimental set-up shown:

FHHH

\
Copper

Copper plate
plate

Copper sulphate
solution
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After passing current for about 15 minutes it is
observed that:

(a)
(b)
(©)

the blue colour of the solution fades away.

both the electrodes gain copper from the solution.
copper gets transferred from the negatively charged
electrode to the positively charged electrode.
copper gets transferred from the positively charged
electrode to the negatively charged electrode.

(d)

PYQs 9th

100. Select from the following a gas where increased

concentration in the environment may cause global
warming:

(a) Sulphur dioxide

(b) Nitrogen dioxide

(c) Carbon dioxide

(d) Carbon monoxide

Answers with Explanations

1.

th

10.

11.

12.

13.

(d) IZ T A W= F- AR T I U= AYE T I
famea (d) T = R

(d) 9% = F T g B-feaey, g 2 @ = awm
= Bl

(d) 1, Ve a5d ® wEEEE 21 aRd ® 9 wEhEaE 2
Tz, afE, 9=, SR, wa skl

. (b) 5% | 3y fomn % 4 TwE o = e e (b) @

IW B

(c) T & faggar aqH ol = W fawm w@ S g
W & fe-dm ©F g @ 21 T8 g v = wt
fergroa == W@ T

(a) 7 Sita-wgA % AlEE W@ T H HRO T T B
FeAT faEm | Sidl & fau aEm w1 auen 39 it
& WM Aw Sfaa w1 gweg A fag e #

. () Tm-THA & A sEfon g@ wwd ¥ FE gE st

Ferd ¥ Al wyaitaa gt € aw v g we € ses
FEHET H ATEE g2 SR iR Ted faa S S
Afedi & ¥e |iq € ora: |9 ¢ fE 9 afa g awd g

. (b) T O =t fafrem gy 7 & S9! o I we S

21 o = 239 ¢ T W (S) W W WS

. () T8 WR ¥ fawm e T, W@ ol Wem # g A

T ¥ A WU F wRV @, T AR s wel @ g
F1 AT AfuF 7 T foms Sua ¥ 9E v TR Wik 9w
TES W ® SR T e amiE o R @ s #

(c) o =% ¥ M 9= ‘wan’ @ @ ¥ ‘uwe’| dee = &
3= Tt E- s, faofa, faer, e, swa, =en sfe
(d) feu T Al § wed Yo a9 3-eEd at veel @ aa fam
on 9 A W e ¥ o fawew (d) W I H

(c) i = wwa #1 T et swwl = owEm A g
=i 4 I W YR ¥ f o+ 99, FR o+ 9, o T
ITE & FU/ETIER B W fEe U= % oMW § o W
#

(b) T gu de wF 9 T mE 9gE A wm- fon A
7 frm sit G Wl T wgE A 3 A € e @ ow
Al Al &1 A IeR RS, W, g e | W
wrer S 2
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14,

15.

16.

17.

18.
19.

20.

21.

22.

23.

24,

(b) e EEE A W THE HE W S AE 0N HE WA A
T R w0 o F & W W A G IW fawen wA
7@ 7

(c) Temsit =1 M =171 2 W I Ta- O A @ o T forg geren
- S TFEH TIF TEAHI 9 E F FER 0 & A g
= TR AG-3 H F T-gE | 451 §g H I 9
¥ -FHH A FE W HW T A FIR A AU TR
T WU-T=0 @M A6 FH T Sa9e 8 S 2

(b) The penguins carried their eggs in a pocket between the
tail and legs. Option (b) is correct answer.

(¢) The narrator and his friend could not help laughing
when they saw the mother penguins feeding their young
ones. The way of her feeding made them laugh. Option (¢)

15 COITECT answer.
(¢) Penguins live on Islands. So (c) is the correct answer.

(b) He went in search of food with his friend, a jackal.
Search ‘of’ is a preposition and used for searching

something.
(c) The pair went for the village in the middle of the night
untill they stumbled upon a cucumber field.

(c) Udhata eventually began to look much healthier and
was able to pick more load. ‘Began’ is correct option as per

the passage.

(d) Once after appetising a wholesome meal of cucumbers,
the donkey started braying. ‘of’ is preposition, a kind of
part of speech.

(c) Here the meaning of underlined word ‘arduous’ is
difficult. Option (c) is correct answer.

(b) She created twenty new dresses for the fashion show in
just two days.

Passive voice of the sentence is :
Twenty new dresses were created by her for the fashion
show in just two days.

. (a) The Candidate said that his views have been deliberately

garbled. (distorted)
The opposite word of the underlined word ‘garbled’ is
Clarified.
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26.

27.

28.

29,

30.
31.

32.

33.

(b) No other boy in the class is as good as Ram. Option (b)
is correct answer. (as good as, as well as, as soon as efc.)
(b) He was sleeping well when the bell rang. (b) is correct
answer.
(a) You can not depend on him, he knows a little about
finance. Option (a) is the correct answer.
(a) Something that cure all illnesses or prolongs life is
called Elixir. It is a magical or medicinal potion. Idyllic
means something extremely pleasant. Massif is a group of
mountains and masterpiece means ‘a work of outstanding
artistry or skill’.
(b) (b) is the correct option as per narration rules.
(d) Let the initial price of the item = x

*. increased price = x + % X x
Suppose quantity sold by shopkeeper =y

= 10 x y
Now total sale =y — T 0.9y

Total earning from sale = 1.15x x 0.9y

= 1035xy
.. Effect on eamning
1.035xy — xy
= x 100

= 3.5% increase
.. Total earning of shopkeeper increased by 3.5%
(¢) Let sum 1s P
P become 3 times in 8 years
[t means simple interest in 8 years = 2P
and simple interest in 4 years = 1P
.~ upto 20 years,
Total simple interest = 5 x 4 = 5P
.. Total money after 20 years = 5P + P = 5P
= 0 times the money invested.

(¢) From the formula

r iy
e Pl Tl o] =P
W ( 100]
=P[1+L) <
" 100
el
o B | et |
1261 -[4"100) ]

20x20x20

3
i [ﬂ] _l}ﬂ[z]lele—zwz{)xzo]

www.sdcampus.com

PYQs 9th

1261 x 20 = 20 x 20
21 x21x21-20%20%20
_ 1261 x 20 x 20 % 20

= P=

9201 — 8000
_ 1261 x 8000
1201
= 8000
.. The sum of money invested is T8000.
1
34. (c) Work done by A in 1 day = 35
. 1
Work done by B in | day = 20
Work done in 5 days when both A and B were working
= S[L.’.LJ
20 25
_ (25+20) s OSx5S 9
20x25 20x25 20

i B W Il
Remaining work = 1 — 0= 20

11
', Time required by B to complete the remaining 30 work

11
=55 X 10=11 days.

35. (a) Given S5m=Tw
Let amount earned by (10m + 5w) =x
According to question,

S5m 10m+ 5w

372
?—wz Ig_w [“5m=Tw = 10m = 14w]
1372 x
0
36. (d) A B
Qi [x= 42
D > C
Side =x
Perimetre = 4x
4x= 16\2
x= 42

(RS)* = (PR)* + (PS)?
= (227 + (22)°
=8+8=16
RS=4c¢m
Perimetre of PQRS =4 x 4 =16 cm
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37. (a) Suppose there are 2 squares Sx+5 1
Perimetre of square A =40 em 42. (@) Sl 1
Perimetre of square B = 32 cm S5x+5=8x-4
= side of square A = 10 cm [ Perimetre of square = 4 = side] 9=3x
side of square B = 8 cm x=3
Area of square A = (side)? Age of Raju =5 x 3 =15 years
& “{1)2' 100 <im2 43. (a) Solving through option
Area of square B = (8)" = 64 cm” a=>58 — 58 4+ 85 = 143

Area of squareC = A -B

=100 - 64 = 36 cm? e
Side of square C = 6 cm 44. (a) [*";] =36
.. Perimetre of square C =4 % 6 =24 cm

58

38. (c) Let x people will get 500 and y people will get T100 ¥ +=5-2=36
500x + 100y = 50000 o
x+ 5y =500 (1) by 38
x+y=200 ..(iD)
From eqn. (i) and (ii), we get ST .|.F
4x =30 — _
x=175 [A—L‘PI—?][I'-FFJ—E
39. (d) ABCD is a parallelogram ——
Hence, ﬂ}B '—:CD, BC=AD et 5
13‘xB+B£=(D.~DA -

3x=1+xp+3=25+p+28 — .
45, (b) x* -y~ +2yz-z*

= 3x+2p+2=25+y+28

]
s AB=CD and BC=DA =~ -z +2)
= 3x-1=25 and 2y+3=p+28 =x’—(y-z)

46. (d) LCM of 8, 15, 20
-\'+.v=2+15=170' S —
3
= 8x3x5=120
=33.67 = 33
On checking
40. (d) 2x + 3x + 5x + Bx = 360°
13x = 360° 312(:)“ = 30 = 3600
=200 4 7 :
x 47. (¢) 1P+22+32+42+52=225 (D)

Largest angle =20 x 8 = 160°
Smallest angle =2 % 20 = 40°

2+42+6+82+10°=7
BB+22+33+43+5%

Difference = 160 —40=120° - 25 % 225
41. (d) 2+ + e =2@b-c)-3 = 8 % 225 = 1800
2 2 . 2
i il ot 48. (a) 3+0.008 +310.343 — 025
S 02+0.7-05=04
@a-17=0 5 &
N 49. (b) |2 4 (0.008) _[_
a=11 (b) \[1_6+( ) ]ﬂ]
Similarly b=-1,c=-1 3
(2a—3b+45)=2x1-2x (-1)+45 (1) =g el
=2+3-4
=5-4=1 _3 1o,
i 4
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50. (a) 9801
51. (d) 8, 15, 17

172 =82+ 152

289 = 64 + 225

289 = 289
815,17

g

52. (¢) x x

x

Area of square field = 60025 m?
Letside=xm

¥ = 60025

x= 260025 =245

Perimetre = 4 x 245 =980 m

= ISxi m/sec
18
= 196 sec
53. (a) 9™ 4)201(5
20
1—9
9l=9

54. (¢) Let4 prime numbersarea, b, c, d

As per the question,
axbxc=455
bxexd=1729

5/ 455 711729

7191 13| 247

13 13 19 19

axbxc:_ S5xTx13
bxexd Tx13x19

a 5

d 19

First prime number =5
Largest prime number = 19
55. (b) Largest four digit number is 9999
Dividing it by 345 we get:

www.sdcampus.com

56.

57.

59.

60.

61.

62.
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345 )9999( 28
690
3099
2760
339
345-339=6¢6
33x|{]0x}5x100x40xi
22x10%7 10
=3x10x%x05%x10%x20%9
=30 x 0.5 x 200 x 9 = 27000
(a) Possibleevent = 2, 4, 6,8 — 4

(d) Number of bricks =

Totalevents = 1,2,3,4,5,6,7.8 > 8

o = : 4 1
Probability of occuring even number =—-=—

8 2
. (d) No. of people with age group 15 and 16 = 18
%=Ex100=36%
50
() Ixbxh=150 (i)
21+ b) =50
I+b=25 ...(ii)
Ibh =150
=15x10x1
If L=id5
b=10
h=1
Eqn. (i) and (ii)
i®
b 10
=3:2
(b) 260 = 140 % h = 54600
B2 —15m
2614

(c) Let the number to be multiplied = x

(2377 x x =(69)
N —
(23 69

x |
e

69x=23 x 23 x 23

o 23x23 529

g 5

(c) (6+3) ><l-:-l+22
9 3
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65.

66.

67.

68.

69.

70.

(d) Time needed for emptying the tank

9x10 90
PR e R RO )
TR hours

31—3 e ?

(C) 22.1‘—' ==

checking the option
A2=-xt _ L
= 8.\'—3
(a) 5%+ 5P+ 5%=651
5% + 50+ 1 =651
5P (5" + 1) =650
looking at the options,

=¥=0=2

p=2
5%(52 +1) = 650
650
26 =—=26
2 =&
=  26=26

p = 2 (correct answer)
(c) A chemical reaction is a process by which two or more
molecules interact to produce new products.
Compounds that interact to form new compounds are
referred to as reactants, while the newly formed compounds
are referred to as products.
A chemical change must occur in a chemical reaction,
which is commonly observed with physical changes such
as precipitation, heat production, colour change, and so on.
A reaction can occur between two atoms, ions, or molecules
in which they form a new bond without destroying or
creating an atom, but a new product is formed from
reactants.
The rate of reaction is affected by factors such as pressure,
temperature, and reactant concentration.
(a) To live in an extremely cold climate, the polar bear has
many adaptations, such as: (a) A layer of fat under the skin
for insulation. (b) Long curved and sharp claws to walk
and run on slippery ice.
(d) Weathering is a slow process of soil formation. The soil
is formed by the process of weathering, in which the rocks
break down by the action of wind, water and climate.
The soil is classified on the basis of the proportion of
particles of various sizes. If the amount of large and fine
particles is about the same, then the soil is called loamy.
The loamy soil consists of sand, clay and silt along with
humus.
(b) A student has put a drop of dilute solution of sodium
hydroxide first on a strip of blue litmus paper and then on
a strip of red litmus paper. His observations must be: No
change in blue litmus paper but the red litmus paper turns
blue.
(d) Grass— Insects — Frog — Snake — Eagle
correct order of these components in food chain.

15 the
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71.

73.

74.

76.

77.

78.
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(c) The Kkharif crops include rice, maize, sorghum, pearl
millet/bajra, finger millet'ragi (cereals), arhar (pulses),
soyabean, groundnut (oilseeds), cotton etc. The rabi
crops include wheat, barley, oats (cereals), chickpea/gram
(pulses), linseed, mustard (oilseeds) ete.
(d) Agricultural practices/processes:

(2) Crop Rotation

(3) Field Fallow

(4) Adding Manure and Fertiliser add nutrition to the

soil.

(a) An element can be defined as the substance that can not
be broken down into simpler substance.
All elements are composed of atoms which are further
composed of electrons, protons and neutrons.
Examples- Gold (Ag), Silver (Au), Oxygen (O) etc.
A chemical compound is a substance constituting atoms of
more than one element held together by a chemical bond.
One compound can be transformed into other compounds
with the help of chemical reactions.
Types — Molecular, ionic, intermetallic, etc.
Examples — NaCl, H,80,, MgCl, etc.
Mixture is a combination of two or more substances
without any chemical reactions.
The consituent of a mixture remain seperated from each
other.
Example— Air, milk, etc.
(a) Convex mirror does not form images on the same side
of the object, concave mirror never forms erect images
on the same side of the object and the image formed by
convex lens is not diminished in such case.
When object is placed beyond focal length of a concave
lens as shown in the diagram, image formed is virtual,
diminished and on the same side of the lens as object.

. (b) The amount of water recommended by the United

Nations for drinking, washing, cooking and maintaining
proper hygiene is a minimum of 50 litres per person per
day. This amount is about two and a half buckets of water
per person per day.

(b)

LT ILL LTINS

77 A

.. The angle of reflection for the ray reflected from mirror
B would be 60°.

(d) The correct sequence of three planets of the solar
system in increasing order of their distance from the sun is
Venus, Earth, Mars.

(d) A planet of our solar system which has no satellite of its
OWn 1S Venus.

T 7 7 7
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79.

80.

81.

82.

86.
87.

88.

89.

(d) The Richter scale was developed by Charles F. Richter
in 1934. It used a formula based on the amplitude of the
largest wave recorded on a specific type of seismometre and
the distance between the earthquake and the seismometre,

(a)

" g

7T 7 7 FIFTTTFTIT r 1

S1 is the correct answer.

(c) As the solution of copper sulphate is evaporated, water
evaporates, leaving behind the solid copper sulphate.

(b) Parallel venation and fibrous root is observed in the
2rass.

(a) Saprotrophic nutritionis a process of chemoheterotrophic
extracellular digestioninvolved in the processing of decayed
(dead or waste) organic matter. It occurs in saprotrophs,
and is most often associated with fungi (for example
Mucor) and soil bacteria. Saprotrophic microscopic fungi
are sometimes called saprobes; saprotrophic plants or
bacterial flora are called saprophytes.

(¢) The correct combination of organs that do not carry out
any digestive functions are the esophagus, large intestine,
and rectum.

. (¢) Banana and Pumpkin. In banana: stem, fruit and flower

are edible and in pumpkin: flower and fruit are edible.

(d)

; | 20 20
(¢) Total distance = 36 x 60" 54 )
=12+18
=30 km

(d) In this case we observe that it deflects a compass needle
placed near it.

(a) Sometimes the athletes suffer from muscle cramps. It is
due to anaerobic respiration in which glucose is converted
into lactic acid only.
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(b) In human bodies, the exchange of gases between blood
and tissues and the absorption of nutritions take place in
the capillaries.

(a) Bryophyllum can reproduce by its leaves. Bryophyllum
is a group of plant species of the family Crassulaceae native
to Madagascar. It is a section or subgenus within the genus
Kalanchoe, and was formerly placed at the level of genus.

(d) Plants also need chlorophyll, water, carbon dioxide
besides sunlight for photosynthesis.

(a) Silk fibre consists of sericin and fibroin mainly, both
of which are protiesns. Fat and cellulose are not present in
silk fibre.

(b) The metal has high thermal conductivity, 1.e., they
conduct heat faster and also metal is a good conductor of
heat. Hence, it takes away your body heat as you touch it
and which makes your body temperature to drop, therefore
you feel the coldness when you touch a piece of metal.

- (a)

(b) Transpiration is the process of water movement through
a plant and its evaporation from aerial parts, such as leaves,
stems and flowers. Water is necessary for plants but only
a small amount of water taken up by the roots is used for
growth and metabolism. The remaining 97-99.5% is lost
by transpiration and guttation.

(b) Examples of contact forces include frictional force,
tensional force, normal force, air resistance force, and
applied force.

(b) In the given water tank, the water will flow with same
pressure from tap B and C.

(d) In the given experiment, it is observed that copper gets
transferred from positively charged electrode to negatively
charged electrode.

(c) Increased concentration of carbon dioxide gas in the
environment may cause global warming. Carbon dioxide is
highly potent greenhouse gas.

aaa
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